
1 2 3 4 5 6 7 8 9 10 11 12

1 दधू मे गाय 66 0 17 83 0 0 12 0 0 71

2 शुçक गाय 61 0 12 73 0 3 14 0 0 56

3 Ĥͧश¢ण हेतु 22 0 0 22 0 0 0 3 0 19

4 औसर 138 0 3 141 0 0 3 3 0 135

5 मादा बÍचे 28 13 1 42 0 0 4 0 0 38

6 सांड बछड़े 20 0 1 21 0 4 0 7 0 10

7 नर बÍचे 20 3 0 23 1 1 1 2 0 18

355 16 34 405 1 8 34 15 0 347

1 दधू मे गाय 9 0 0 9 0 0 9 0 0 0
2 शुçक गाय 4 0 0 4 0 0 4 0 0 0
3 Ĥͧश¢ण हेतु 2 0 0 2 0 0 2 0 0
4 औसर 3 0 0 3 0 0 2 1 0 0
5 मादा बÍचे 6 0 0 6 0 0 3 0 0 3
6 नर बÍचे 3 0 0 3 0 0 3 0 0 0
7 सांड बछड़े 2 0 0 2 0 0 0 2 0 0

29 0 0 29 0 0 23 3 0 3

1 नर बÍचे 3 0 0 3 0 3 0 0 0 0
2 मादा बÍचे 0 0 0 0 0 0 0 0 0 0

3 0 0 3 0 3 0 0 0 0

दधू मे गाय 11 0 5 16 0 0 1 0 0 15
शुçक गाय 21 0 2 23 0 0 4 0 0 19
Ĥͧश¢ण हेतु 4 0 0 4 0 0 0 1 0 3
औसर 38 0 1 39 0 0 1 1 0 37
मादा बÍचे 13 3 0 16 0 0 1 0 0 15
नर बÍचे 11 2 0 13 0 1 1 0 0 11
सांड बछड़े 8 0 1 9 0 6 0 0 0 3

106 5 9 120 0 7 8 2 0 103

दधू मे गाय 2 0 3 5 0 0 0 0 0 5
शुçक गाय 6 0 0 6 0 0 0 0 0 6
औसर 16 0 1 17 0 0 3 0 0 14
मादा बÍचे 3 3 0 6 0 0 1 0 0 5
नर बÍचे 2 0 0 2 0 1 0 0 0 1
सांड बछड़े 0 0 0 0 0 0 0 0 0 0

29 3 4 36 0 1 4 0 0 31

शुçक गाय 2 0 0 2 0 0 0 0 0 2

मादा बÍचे 1 0 0 1 0 0 0 0 0 1

नर बÍचे 2 2 0 4 0 1 0 0 0 3

5 2 0 7 0 1 0 0 0 6

527 26 47 600 1 20 69 20 0 490

1  गाय @ghQj 38 0 6 44 0 0 0 0 0 44
2 सांड @cSy 65 0 9 74 0 0 0 0 0 74

103 0 15 118 0 0 0 0 0 118

1  गाय /@ghQj 3 0 2 5 0 0 0 0 0 5
2 सांड @cSy 15 0 0 15 0 0 0 0 0 15

18 0 2 20 0 0 0 0 0 20

1 गाय @ghQj 2 0 1 3 0 0 0 0 0 3
2 सांड @cSy 1 0 2 3 0 0 0 0 0 3

3 0 3 6 0 0 0 0 0 6

1 गाय @ghQj 0 0 1 1 0 0 0 0 0 1
2 सांड @cSy 0 0 0 0 0 0 0 0 0 0

0 0 1 1 0 0 0 0 0 1

124 0 21 145 0 0 0 0 0 145

651 26 68 745 1 20 69 20 0 635
* TWH - TRANSFER WITHIN THE HERD.
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